Algebra 1:  Unit 1 REVIEW
Name ______________________________________

Equations and Inequalities
Period _______________   Date _________________


I. N-Q.1: I can use units (cm, sec, grams) appropriately through the problem solving process and understand units that are in graphical displays. (0 questions on Unit 1 Test)
1. Nina can braid 48 inches of rope in 1 hour. What is her speed in feet per hour? (2pts.)
2. Molly jogged at a rate of 6 miles per hour. What was her speed in feet per second? 






(2pts.)
II. N-Q.3: I can estimate an appropriate level of accuracy. (0 questions on Unit 1 Test)
3. Last Saturday it rained 3 inches. The reading from four rain gauges is shown in the table. Which rain gauge is the most accurate?   






(2pts.)
	Rain Gauge
	Rain (in.)

	1
	3.12

	2
	3.22

	3
	2.99

	4
	3.111


4. Four tailors measure a 76.22 cm inseam. Their results are shown in the table. Whose measurement is the most accurate?    (2pts.)
	Tailor
	inseam (cm)

	Jan
	76.322

	Taylor
	76.2

	Bret
	76.18

	Jamaal
	76.1


III. A-REI.1   Learning Target: I can justify each step used to solve an equation. (2 questions on Unit 1 Test)
5. A gardener has 26 feet of fencing for a garden. To find the width of the rectangular garden, the gardener uses the formula [image: image1.png]P=2+2w



, where P is the perimeter, l is the length, and w is the width of the rectangle. The gardener wants to fence a garden that is 8 feet long. How wide is the garden? Solve the equation for w, and justify each step. 






(2pts.)
	[image: image2.png]P=2+2w




	Given equation

	[image: image3.png]26 = 2(8) + 2w




	[1]

	[image: image4.png]26 = 16+ 2w
-16--16
10=2w





	Simplify.

Subtraction Property of Equality

Simplify.

	[image: image5.png]



	[2]

	[image: image6.png]



	Simplify.

	[image: image7.png]



	Symmetric Property of Equality


	a.
	[1] Substitution Property of Equality

[2] Division Property of Equality

The garden is 5 ft wide.
	c.
	[1] Substitution Property of Equality

[2] Subtraction Property of Equality

The garden is 5 ft wide.

	b.
	[1] Simplify

[2] Division Property of Equality

The garden is 5 ft wide.
	d.
	[1] Subtraction Property of Equality

[2] Simplify

The garden is 5 ft wide.


6. Solve the equation and state a reason for each step.   
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(4pts.)
	Solution Steps
	Justifications
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7. Solve the equation and state a reason for each step.  
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(4pts.)
	Solution Steps
	Justifications
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8. A classmate has just solved an equation without checking the answer. Unfortunately, the solution has several mistakes. Without re-doing the entire problem, go through each step and explain how the step was obtained. If the step is incorrect, explain the error and the procedure that should have been followed.                


(6pts.)
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IV. A-REI.3   Learning Target: I can solve for a single variable from an equation. (2 questions on Unit 1 Test)
9. Solve for x and graph the solution. (3pts.)  
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10. Solve for x and graph the solution. (3pts.) 
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11. Solve for x and graph the solution.   (4pts.) 
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12. Solve for x. 
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(3pts.)
13. Solve for x. 
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(4pts.)
14. Solve for x. 
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(4pts.)
15. Solve for x. 



(6pts.) 
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V. A-CED.1  Learning Target: I can set up an equation or inequality to model a real-world problem with one unknown variable. I can solve this equation to answer the real world problem. (6 questions on Unit 1 Test)
16. Write and solve an equation that represents the relationship “3 more than a number is 7.”




(3pts.)
17. At 86 km/h, how far can you travel in 8h? Use unit analysis to check your answer.







(3pts.)
18. Leroy works part time for a moving company. One day he had to move 34 boxes from a truck to inside a house. After moving some boxes, he took a break and told his boss that he has only 15 more boxes to move. Which equation can be solved to find how many boxes Leroy moved before his break?




(3pts.)
19. A painter is working on a canvas that has a total area of 338 square inches. The canvas is x inches wide and twice as long as it is wide. Find the value of x.

(3pts.)
20. The maximum capacity of a theater is 471 people. So far, 254 people are seated in the theater. Write an inequality can be solved to show the number of people p that can still enter the theater.


(4pts.)
21. Jeremy receives a base salary of $25,000 plus 5% commission on his sales. Jeremy received a total salary of $45,000 last year. How much were his total sales?
(4pts.)
22. The population of pandas in China is predicted to decrease by 
[image: image25.wmf]1

3

this year. If there were 1500 pandas at the start of the year. How many pandas will be remaining at the end of the year? 


(3pts.)
23. Sam earned $450 during winter vacation. He needs to save $180 for a camping trip over spring break. He can spend the remainder of the money on music. Write an inequality to show how much he can spend on music. Then, graph the inequality.

(4pts.)
24.  A farmer has 120 yards of fencing to build around a rectangular orchard. Let w be the width of the orchard. Write an inequality giving the area of the orchard. Find the dimensions of the orchard when the area is less than 900 square yards.    

(4pts.)
25. An essay must be at least 500 words long to be accepted. Define a variable and write an inequality for the acceptable number of words in an essay. Graph the solutions. 





(2pts.)
                           [image: image26.png]200 300 400 500 600




26. Write the inequality shown by the graph. 





(2pts.)
                               [image: image27.png]



VI. A-CED.2   Learning Target: I can set up an equation to solve a real-world problem with two unknown variables and graph this equation on a coordinate plane. (3 questions on Unit 1 Test)
27. Lawrence's parents pay him a base allowance of $20 per week and $3.55 per hour for extra chores he completes. Write an equation that models Lawrence's total weekly income. Graph the equation.
(6pts.)
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 Equation: ____________________
28. Verizon charges $10 for 100 texts. Every text over 100 costs $0.10 per text. Write a linear equation to represent this scenario. Graph the equation. 


(6pts.)
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 Equation: ____________________
29. A movie theater charges $8.50 for an adult ticket to an evening showing of a popular movie. To help the local animal shelter, the theater management has agreed to reduce the price of each adult ticket by $0.50 for every can of pet food a customer contributes to a collection barrel in the theater lobby. Which of the following shows both an equation in which y represents the cost of an adult ticket in dollars for a customer who contributes x cans of pet food, and the graph of the cost if a customer brings in 2, 5, 8, or 10 cans of pet food?



(2pts.)
	a.
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	c.
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	b.
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	d.
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VII. A-CED.3   Learning Target: I can write equations and inequalities that represent real-life situations within a set of limitations. I can also decide if the solution fits the limitations. (2 questions on Unit 1 Test)
30. Which problem could be solved using the inequality
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(2pts.)
a. Four equal-priced shirts came to at least $48.

b. Marty earned $48 for 4 hours of work.

c. The product of 4 and a number is equal to 48.

d. Four students split a restaurant bill that came to less than $48.
31. Which problem could be solved using the inequality 
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?                              (2pts.)
a. Marty earned $45 for 9 hours of work.

b. Nine equal-priced shirts came to at least $45.

c. Nine students split a restaurant bill that came to less than $45.

d. The product of 9 and a number is equal or equal to 45.
32. Which problem could be solved using the inequality 
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 (2pts.)
a. Marty earned under $36 for 2 hours of work.

b. Two students split a restaurant bill that came to $36.

c. The product of 2 and a number is equal to 36.

d. Two equal-priced shirts came to at least $36.
VIII. A-CED.4   Learning Target: I can rearrange a given formula to solve for a single unknown variable. (3 questions on Unit 1 Test)
33. Solve 
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(2pts.)
34. Solve 
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(3pts.)
35. A circle has an area of 
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 square feet. What is its radius?


(2pts.)
36. What is the height of a triangle whose base is 9.4 centimeters and whose area is 132.54 square centimeters?


(2pts.)
37. Solve
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(2pts.)
38. Write 
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 as a function of x.
(2pts.)
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